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! pade approximation
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! SUBROUTINE pade(cof,n,resid)

'] USES lubksb,ludcmp,mprove U U UUDODUOOUOOOODOOOO subUdODOOONO
! Given cof(1:2xn+1), the leading terms in

! the powerbseries expansion of a function, solve the

! linear Pade equations to return the coefficients

! of a diagonal rational function approximation to

!

the same function, namely(cof(l)+cof(2)x+...... +cof (n+1)xN)/
(1+cof (n+2)x+..... +cof (2¥n+1)x"N) .
<=== 2xn+1 0000000 cof(1:2+n+1) JOOODOODOODODO

odoooooooooodoonoooonoooooo
! The value resid is the the norn of the residual vector;
! a small value indicates a well-converged solution.

implicit REAL*8 ( A-H, 0-Z )

PARAMETER (ndim=6000,n21=2%ndim+1)

PARAMETER (NMAX=1000,BIG=1.E30,n6=6% (ndim+1))

REAL*8 cof (n21), dcof(5000)

INTEGER*4 indx (NMAX)
REAL*8 q(NMAX,NMAX),qlu(NMAX,NMAX) ,x (NMAX) ,y(NMAX) ,z (NMAX)

REAL*8 xr(NMAX), yr(NMAX),vw(n6é)
COMPLEX*16 zout (ndim)

do ii=1,nddd
READ(1,*) ndum, dcof(ii),bum ! the cof.
enddo
READ(1,*) gamma
' WRITE(*,*) nddd,gamma

nnum2=50 == {Uouoobobobooooogd
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do j=1,nnum2 I Set up matrix for solving
x(j)=cof (nnum2+j+1)
y(3)=x(j)
do k=1,nnum?2
q(j,k)=cof (j-k+nnum2+1)
qlu(j,k)=q(j,k)

enddo
enddo
call ludcmp(qlu,nnum2,NMAX,indx,d) !Solve by LU decomposition
ggbobooogn ! and backsubstitution.

call lubksb(qlu,nnum2,NMAX,indx,x)

rr=BIG
1 continue
ITmportant to use iterative improvement, since the the
'Pede equation tend to be illconditioned.

rrold=rr

do j=1,nnum2
z(j)=x(3j)

enddo

call mprove(q,qlu,nnum2,NMAX,indx,y,x) 0 0000000000000 OOO improve

rr=0.
do j=1,nnum2 ! Calculate residual.
rr=rr+(z(j)-x(j) ) **2
enddo
if(rr.1t.rrold) goto 1 I' If it is no longer improving, call it quits.

resid=sqrt(rr)

do k=1,nnum?2 ! Calculate the remaining coefficiates.
sumd=cof (k+1)
do j=1,k
sumd=sumd-x (j) *cof (k-j+1)
enddo
y (k) =sumd



enddo ! Copy answers to output.
do j=1,nnum2
cof (j+1)=y(j) ' cof (1)=dcof (1) remained
cof (j+nnum2+1)=-x(3j)
enddo
U4 program U O OO O
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! output
1 skokskskok ok ok o ok ok
do ii=1,nnum?2
! WRITE(*,*) ii,y(ii),-x(ii)
WRITE(3,*) ii,y(ii),-x(@Ai) 00000000 O0OOOOOOOOOOOO.

Oo0O0O0oo0o0o0o000 cofO00O0OOOOOODODOODODODODODODODOOa_0=c_0, b_0=1.0
end do
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I calculate zeros of the numerator
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! reverse order
do kk=1,nnum?2
yr (nnum2-kk+1) =y (kk)
end do
sk ok ok ok
nm=nnum?2
yr (nm+1)=cof (1)
CALL drjetr(yr,nm,zout,vw,icon) ! ssL2
WRITE(*,*)’icon=’,icon,’# of roots nm=’,nm

WRITE(*,*) ’zeros of the numerator’
WRITE(3,*) ’zeros of the numerator’
do i=1,nnum2
WRITE(*,*) i, DBLE(zout(i)), aimag(zout(i))
WRITE(3,*) i, DBLE(zout(i)), aimag(zout(i))
enddo
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! calculate poles of the denominator (bunnbo)
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! reverse order
do kk=1,nnum?2
xr (nnum2-kk+1)=-x(kk)
end do
D kokok ok ok
nm=nnum?2
xr (nm+1)=1.d0
CALL drjetr(xr,nm,zout,vw,icon) ! ssL2
WRITE(*,*)’icon2=’,icon,’# of roots nm=’,nm

WRITE(*,*) ’poles of the denominator’
WRITE(3,*) ’poles of the denominator’
do i=1,nnum2
WRITE(*,*) i, DBLE(zout(i)), aimag(zout(i))
WRITE(3,*) i, DBLE(zout(i)), aimag(zout(i))
enddo

112 stop
END
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! ludcmp.for (numerical recipes)
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SUBROUTINE ludcmp(a,n,np,indx,d)
implicit REAL*8 ( A-H, 0-Z )
INTEGER*4 indx(n)

REAL*8 a(np,np)
PARAMETER (NMAX=500,TINY=1.0e-20)

! INTEGER i,imax,j,k
REAL*8 vv (NMAX)
d=1.
do 12 i=1,n

aamax=0.
do 11 j=1,n
if (abs(a(i,j)).gt.aamax) aamax=abs(a(i,j))
11 continue
! if (aamax.eq.0.) pause ’singular matrix in ludcmp’
if (aamax.eq.0.) goto 12
vv(i)=1./aamax

12 continue

do 19 j=1,n



do 14 i=1,j-1
sum=a (i, j)
do 13 k=1,i-1
sum=sum-a (i,k)*a(k, j)

13 continue
a(i,j)=sunm
14 continue
aamax=0.
!
do 16 i=j,n

sum=a (i, j)
do 15 k=1,j-1
sum=sum-a(i,k)*a(k, j)
15 continue
a(i,j)=sum
dum=vv (i) *abs (sum)
if (dum.ge.aamax) then

imax=i
aamax=dum
endif
16 continue
if (j.ne.imax)then
do 17 k=1,n

dum=a (imax,k)
a(imax,k)=a(j,k)
a(j,k)=dum
17 continue
d=-d
vv (imax)=vv(j)
endif
indx (j)=imax
if(a(j,j) .eq.0.)a(j,j)=TINY
if (j.ne.n)then

dum=1./a(j,j)
do 18 i=j+1,n
a(i,j)=a(i,j)*dum

18 continue
endif
19 continue
return
END
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! lubksb.for (numerical recipes)
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SUBROUTINE lubksb(a,n,np,indx,b)
implicit REAL*8 ( A-H, 0-Z )

INTEGER*4 indx(n)
REAL*8 a(np,np),b(n)
! INTEGER 1i,ii,j,11
! REAL sum
1i=0
do 12 i=1,n
11=indx (i)
sum=b(11)
b(11)=b(i)
if (ii.ne.0)then
do 11 j=ii,i-1
sum=sum-a (i, j)*b(j)
11 continue
else if (sum.ne.0.) then
ii=i
endif
b(i)=sum
12 continue
do 14 i=n,1,-1
sum=b (i)
do 13 j=i+l,n
sum=sum-a (i, j)*b(j)

13 continue
b(i)=sum/a(i, i)
14 continue
return
END
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! mprove.for (numerical recipes)
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SUBROUTINE mprove(a,alud,n,np,indx,b,x)
implicit REAL*8 ( A-H, 0-Z )

INTEGER*4 indx(n)
REAL*8 a(np,np),alud(np,np),b(n),x(n)
PARAMETER (NMAX=500)

ICU USES lubksb

! INTEGER i, j



REAL*8 r(NMAX)
DOUBLE PRECISION sdp
do 12 i=1,n
sdp=-b (i)
do 11 j=1,n
sdp=sdp+dble(a(i,j))*dble(x(j))
11 continue
r(i)=sdp
12 continue
call lubksb(alud,n,np,indx,r)
do 13 i=1,n
x(1)=x(1)-r(1)
13 continue
return
END
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